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Part A

Section Id : 686340337
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Number : 1
Sub-Section Id : 686340565
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Question Id : 68634017017 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634017018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634067202. 2

68634067203. 3
68634067204. 4

Question Number : 2 Question Id : 68634017019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067205. 1
68634067206. 2
68634067207. 3
68634067208. 4

Question Number : 3 Question Id : 68634017020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067209. 1
68634067210. 2
68634067211. 3
68634067212. 4

Question Number : 4 Question Id : 68634017021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634067214. 2
68634067215. 3
68634067216. 4

Question Number : 5 Question Id : 68634017022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 416 & 9T Bl APR YT old war Ulad & Bid T 31 2 87

1. I<aH Y

2.991 9
3. HOA 9

4. 959

Options :

68634067217. 1
68634067218. 2
68634067219. 3
68634067220. 4

Question Id : 68634017017 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634017018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2
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Options :

68634067201. 1

68634067202. 2

68634067203. 3
68634067204. 4

Question Number : 2 Question Id : 68634017019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067205. 1
68634067206. 2
68634067207. 3
68634067208. 4

Question Number : 3 Question Id : 68634017020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067209. 1
68634067210. 2
68634067211. 3
68634067212. 4

Question Number : 4 Question Id : 68634017021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067213. 1
68634067214. 2
68634067215. 3
68634067216. 4

Question Number : 5 Question Id : 68634017022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634067217. 1
68634067218. 2
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Sub-Section Number : 2
Sub-Section Id : 686340566
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634017023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067221. 1
68634067222. 2
68634067223. 3
68634067224. 4

Question Number : 6 Question Id : 68634017023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067221. 1
68634067222. 2
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68634067224. 4

Question Number : 7 Question Id : 68634017024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067225. 1
68634067226. 2
68634067227. 3
68634067228. 4

Question Number : 7 Question Id : 68634017024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 8 Question Id : 68634017025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634067230. 2
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Question Number : 8 Question Id : 68634017025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 68634017026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067233. 1
68634067234. 2
68634067235. 3
68634067236. 4

Question Number : 9 Question Id : 68634017026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067233. 1
68634067234. 2
68634067235. 3
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Question Number : 10 Question Id : 68634017027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634017027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634017028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634017028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634017029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 S 1Y Gl 11 67 e Sifey
T 1 (FaUTe SUsY)  [gat 11 (el | ol T g
L

A [fafer grRy =i ufdhdn SR IUS
B. [fre & g e Naid o [
C. [gHadi gl 111 [ST0H
D_[urddd 3usy v [ fera

A feUu U famedl § U Ogl 3w &1 9 Biferu

LA BH COit DIV
2. A-I, B-IIL, C-IV, D-TI
3. ATV Bolll, CAIT. DI
4. A-IIL, B-I1, C-IV. D-II

Options :

68634067245. 1

68634067246. 2

68634067247. 3
68634067248. 4

Question Number : 12 Question Id : 68634017029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 % 1Y = 11 7 e Sifsy
T 1 (HaUT=® SUsY)  [gE! 11 (W8l | ol T ©)
A_ ot gIRT =4TiUd Wishdn 1 |emRave
B. [frea & Hifa Feas Naid| 0. [emHt
C. [oHadi gt I11. [ST9H
D. [HTaTddhie 306 V. |3 fera

e feu U fawmed! § ¥ Tl IR &1 99 Hiforu

LA BH COT DIV
2. A-I, B-IIL C-IV. D-II
3. ATV, Bl CAL D-i
4. A-ITL, B-1, C-IV. D-II

Options :

68634067245. 1

68634067246. 2

68634067247. 3
68634067248. 4



Question Number : 13 Question Id : 68634017030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634017030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634017031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634017031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634017032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634017032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634017033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634017033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634017034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634017034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634067265. 1
68634067266. 2
68634067267. 3
68634067268. 4

Question Number : 18 Question Id : 68634017035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634017035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1A B.CE
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3A.B.DE
4. A.C.D.B
Options :
68634067269. 1
68634067270. 2

68634067271. 3
68634067272. 4



Question Number : 19 Question Id : 68634017036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS IR & o D 59 gU i - Be ‘a8 AR Ufd 1 96+ 1 Hi & ufd o1 gl 92l & 39 I 3R
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4. °9fd

Options :

68634067273. 1
68634067274. 2
68634067275. 3
68634067276. 4
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Question Number : 19 Question Id : 68634017036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS I & o D 59 gU i - wel ‘a8 R Ufd &1 98- &1 #i & ufd o1 ghaldl del & 38 I9W 3R
<iten & o= 31 Fdu g2
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e

-0y
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Options :

68634067273. 1
68634067274. 2
68634067275. 3
68634067276. 4
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Question Number : 20 Question Id : 68634017037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067277. 1
68634067278. 2
68634067279. 3
68634067280. 4

Question Number : 20 Question Id : 68634017037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067277. 1
68634067278. 2
68634067279. 3
68634067280. 4

Question Number : 21 Question Id : 68634017038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067281. 1
68634067282. 2
68634067283. 3
68634067284. 4

Question Number : 21 Question Id : 68634017038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067281. 1
68634067282. 2
68634067283. 3
68634067284. 4

Question Number : 22 Question Id : 68634017039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067285. 1
68634067286. 2
68634067287. 3
68634067288. 4

Question Number : 22 Question Id : 68634017039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067285. 1
68634067286. 2
68634067287. 3
68634067288. 4

Question Number : 23 Question Id : 68634017040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 94T, 6 T 37R 8 T Y1 & ol B Ul ! U9ar = U 141 9 a1 Sl g | df FHiEd o9 31 g
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1. 486 THI2
. 468 THI2
3. 488 THI2
4. 864 A2
Options :
68634067289, 1
68634067290. 2

68634067291. 3
68634067292. 4
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Question Number : 23 Question Id : 68634017040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 9L, 6 AT 3R 8 FH Yol o o1 31 Ul i fger & U 141 U &+ S g | 4l i o 1 gui
& T BRI

1. 486 THI2
. 468 THI2
3. 488 THI2
4. 864 THI2
Options :
68634067289. 1
68634067290. 2

68634067291. 3
68634067292. 4

| )

Question Number : 24 Question Id : 68634017041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(147 x 147 + 147 %143 + 143x143 ) WWW%:
L 147 %147 x 147 - 143x143x143 |
1
[
2
7 1
10
LS
4
n |
8
Options :

68634067293. 1
68634067294. 2
68634067295. 3
68634067296. 4

Question Number : 24 Question Id : 68634017041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(147 %147 +147x143 +143x143 aﬂﬂ'ﬁﬁﬂl%:
| 147 =147 %147 — 143x143x143 |
1
lo=
2
3 1
10
3. 1
4
n 1
8
Options :

68634067293. 1
68634067294. 2
68634067295. 3
68634067296. 4

Question Number : 25 Question Id : 68634017042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067297. 1
68634067298. 2
68634067299. 3
68634067300. 4

Question Number : 25 Question Id : 68634017042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl TR dx2+4x+1=0 P & HHIH &I, <l 2 BT UH 1 6:

1.0

[
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4.2

Options :

68634067297. 1
68634067298. 2
68634067299. 3
68634067300. 4

Part B: Geology Earth Sciences

Section Id : 686340338
Section Number : 2

Section type : Online
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Number of Questions : 75
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Section Marks : 300
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Maximum Instruction Time : 0
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Is Section Default? : null



Question Number : 26 Question Id : 68634017043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is the most widely used geophysical method for groundwater exploration ?
1. Gravity method
2. magnetic method
3. Radioactive method
4. Electrical Resistivity method
Options :
68634067301. 1
68634067302. 2

68634067303. 3
68634067304. 4

Question Number : 26 Question Id : 68634017043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067301. 1
68634067302. 2
68634067303. 3
68634067304. 4

Question Number : 27 Question Id : 68634017044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not an example of a recording type of rain gauge ?

1. Tipping bucket rain gauge
2. Weighing type rain gauge
3. Float type rain gauge
4. Symon’s rain gauge

Options :

68634067305. 1

68634067306. 2

68634067307. 3
68634067308. 4

Question Number : 27 Question Id : 68634017044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067305. 1
68634067306. 2
68634067307. 3
68634067308. 4

Question Number : 28 Question Id : 68634017045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the Darcy’s equation Q = KiA. hydraulic gradient is represented by:

1.K

2.A

4.Q

Options :
68634067309. 1



68634067310. 2
68634067311. 3
68634067312. 4

Question Number : 28 Question Id : 68634017045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067309. 1
68634067310. 2
68634067311. 3
68634067312. 4

Question Number : 29 Question Id : 68634017046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The rain water falling on the land surface that drains across the land into a stream channel is called :
1. Groundwater flow
2. Baseflow

3. Overland flow

4. Subsurface flow

Options :

68634067313. 1
68634067314. 2
68634067315. 3
68634067316. 4

Question Number : 29 Question Id : 68634017046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067313. 1
68634067314. 2
68634067315. 3
68634067316. 4

Question Number : 30 Question Id : 68634017047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following geological materials in order of increasing capillary rise in them.

A. Fine sand
B. silt

C. coarse snad
D. Fine gravel

Choose the correct answer from the options given below :

1.D.C.A.B

| )

CACBCD
3.JADCB
4. B.C.A.D

Options :

68634067317. 1
68634067318. 2
68634067319. 3
68634067320. 4

Question Number : 30 Question Id : 68634017047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AB.CD
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Options :

68634067317. 1
68634067318. 2
68634067319. 3
68634067320. 4

Question Number : 31 Question Id : 68634017048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Specific retention of a geological material is that % volume of water. which is drained by
gravity.

Statement IT : Water holding capacity of soil is called Field Capacity.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement IT 1s correct

Options :

68634067321. 1
68634067322. 2
68634067323. 3
68634067324. 4

Question Number : 31 Question Id : 68634017048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067321. 1
68634067322. 2
68634067323. 3
68634067324. 4

Question Number : 32 Question Id : 68634017049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a good practice of water management ?

1. Night time irrigation

[ )

. Drip wrrigation
3. Building unlined canals
4. Ram water harvesting

Options :

68634067325. 1
68634067326. 2
68634067327. 3
68634067328. 4

Question Number : 32 Question Id : 68634017049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067325. 1

68634067326. 2

68634067327. 3
68634067328. 4

Question Number : 33 Question Id : 68634017050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is not true about carbon dioxide 7

1. It 15 one of the green house gasses.

| B

. Loss of Co, by photosynthesis might have produced the first known Iee Age between 2.2 and 2.4 Ga.
3. The glaciation of Late Ordovician might not have been influenced by the reduction of atmospheric Co,

4. Formation of massive deposits of coal led to cooling of the climate.
Options :
68634067329. 1
68634067330. 2

68634067331. 3
68634067332. 4

Question Number : 33 Question Id : 68634017050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634067329. 1
68634067330. 2
68634067331. 3
68634067332. 4

Question Number : 34 Question Id : 68634017051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the most common fuel used in fuel-cells ?

1. Ethanol

| )

. Methanol
3. Hydrogen
4, Natural Gas

Options :

68634067333. 1
68634067334 2
68634067335. 3
68634067336. 4

Question Number : 34 Question Id : 68634017051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067333. 1
68634067334. 2
68634067335. 3
68634067336. 4
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Question Number : 35 Question Id : 68634017052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Fuel cells generate lesser harmful emissions.

Reason R : Fuel cells directly convert chemical energy in to electricity.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s true but R 1s not false

4. A 1s not false but R is true

Options :

68634067337. 1
68634067338. 2
68634067339. 3
68634067340. 4

Question Number : 35 Question Id : 68634017052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067337. 1
68634067338. 2
68634067339. 3
68634067340. 4

Question Number : 36 Question Id : 68634017053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Most of the damage during an earthquake is caused by body-waves.

Statement II : Surface-waves have higher amplitude than body-waves, for the same earthquake.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ )

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634067341. 1
68634067342. 2
68634067343. 3
68634067344. 4

Question Number : 36 Question Id : 68634017053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067341. 1
68634067342 2
68634067343. 3
68634067344. 4

Question Number : 37 Question Id : 68634017054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Alpine orogeny 1s the result of collision between
1. Eurasian and Indian Plates
2. North-American and South-American Plates.
3. Eurasian and Arabian Plates

4. Furasian and African Plates

Options :

68634067345. 1
68634067346. 2
68634067347. 3
68634067348. 4

Question Number : 37 Question Id : 68634017054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067345. 1
68634067346. 2
68634067347. 3
68634067348. 4

Question Number : 38 Question Id : 68634017055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Deccan volcanic provinee in India formed as a result of the movement of Indian Plate over. which one of
the following hotspots ?

1. Caroline hotspot

| )

. Reunion hotspot
3. St.Helena hotspot
4. Hawaii hotspot

Options :
68634067349. 1



68634067350. 2
68634067351. 3
68634067352. 4

Question Number : 38 Question Id : 68634017055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067349. 1
68634067350. 2
68634067351. 3
68634067352. 4

Question Number : 39 Question Id : 68634017056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Mohorovicic Discontinuity represents
1. Crust-mantle boundary
2. Mantle-core boundary
3. Inner core - outer core boundary
4. Upper mantle - Lower mantle boundary
Options :
68634067353. 1
68634067354. 2

68634067355. 3
68634067356. 4

Question Number : 39 Question Id : 68634017056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Hee-Hod I
4, SR Hed-Hy Hed I
Options :
68634067353. 1
68634067354. 2

68634067355. 3
68634067356. 4
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Question Number : 40 Question Id : 68634017057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is not true about the earth’s mantle ?

1. Its thickness is about 2900 kin

[

. It surrounds the core.
3. It is composed of silicate rocks that also contain abundant iron and magnesium.
4. Mantle’s density decreases with increasing depth.

Options :

68634067357. 1

68634067358. 2

68634067359. 3
68634067360. 4

Question Number : 40 Question Id : 68634017057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634067357. 1
68634067358. 2
68634067359. 3
68634067360. 4

Question Number : 41 Question Id : 68634017058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Himalayan Orogen is the result of continental collision.

Reason R : Denser Indian Plate i1s subducting below the lighter Eurasian Plate.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R i1s the correct explanation of A

-2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is not false

4, A 1s not false but R is true

Options :

68634067361. 1
68634067362. 2
68634067363. 3
68634067364. 4

Question Number : 41 Question Id : 68634017058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067361. 1
68634067362. 2
68634067363. 3
68634067364. 4



Question Number : 42 Question Id : 68634017059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is the best guide for taking - up further mineral exploration activities ?

1. Presence of host-rocks
2. Presence of lineaments
3. Presence of shear-zones
4. Presence of ancient - mine

Options :

68634067365. 1

68634067366. 2

68634067367. 3
68634067368. 4

Question Number : 42 Question Id : 68634017059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G Sy fhaTel D1 $R S g & oy Fafafad § o1 Jdiad Arieatie & 2
. 3MTAUT (host) eH &1 JURUM
. od UREUI (gl Bt Jurufa
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4. U @aH &1 Iufeufa

Options :

68634067365. 1
68634067366. 2
68634067367. 3
68634067368. 4
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Question Number : 43 Question Id : 68634017060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following geophysical methods is most commonly employed for exploration of oil and gas ?
1. Gravity method
2. Magnetic method
3. Seismic method

4. Radioactive method

Options :

68634067369. 1
68634067370. 2
68634067371. 3
68634067372. 4

Question Number : 43 Question Id : 68634017060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeiad § 9 ad uvd 19 @1 @i & 710 Srafid S $i9=1s oiH arell YHIds] dsfd d1H-41 3
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Options :

sagd0673T0 2

68634067371. 3
68634067372. 4
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Question Number : 44 Question Id : 68634017061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A horizontal tunnel through, which concealed Ore bodies can be accessed 1s called :
1. Asink
2. A Shaft
3. An Adit

4. A decline

Options :
68634067373. 1



68634067374. 2
68634067375. 3
68634067376. 4

Question Number : 44 Question Id : 68634017061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 0% (b5
RGoRs )
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Options :

68634067373. 1
68634067374. 2
68634067375. 3
68634067376. 4

Question Number : 45 Question Id : 68634017062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Acid mine Drainage is associated with :

1. Sulfides

(3=

. carbonates
3. granites
4. gemstones

Options :

68634067377. 1
68634067378. 2
68634067379. 3
68634067380. 4

Question Number : 45 Question Id : 68634017062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067377. 1
68634067378. 2
68634067379. 3
68634067380. 4

Question Number : 46 Question Id : 68634017063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Rocks of the Kaladgi Group rest unconformably upon the peninsular Gneissic complex.
Statement II : Deccan Traps unconformably lie over the rocks of the Kaladgi Group.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 13 correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634067381. 1
68634067382. 2
68634067383. 3
68634067384. 4

Question Number : 46 Question Id : 68634017063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067381. 1
68634067382. 2
68634067383. 3
68634067384. 4

Question Number : 47 Question Id : 68634017064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTIT
A |Biostratigraphy I Magnetic polarity
B. Magnetostratigraphic| II. |[Relative stratigraphic positions of rocks.
C. |Lithostratigraphy I11. [Dafferences in mineralogical and chemical
D. [Chemostratigraphy | IV [Fossiliferous beds.

Choose the correct answer from the options given below:

1. A-IT, B-IIT, C-IV . D-I

| )

CA-IV . B-I, C-II, D-III
3. A-I,B-III. C-IT, D-IV
4, A-IIT, B-II.. C-IV ., D-I

Options :

68634067385. 1
68634067386. 2
68634067387. 3
68634067388. 4

Question Number : 47 Question Id : 68634017064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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CA-IV . B-1. C-IT, D-III
3.AL . B-III. C-II., D-IV
4 A-IIL . B-II. C-IV . D-I

Options :

68634067385. 1

68634067386. 2

68634067387. 3
68634067388. 4

Question Number : 48 Question Id : 68634017065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is not true about the Bagh beds ?

1. They are composed of volcanic rocks

| )

. They overlie the Archaean gneisses
3. They are of cretaceous age.
4. They consist of unfossiliferous sandstones and fossiliferous limestones.

Options :

68634067389. 1
68634067390. 2
68634067391. 3
68634067392. 4

Question Number : 48 Question Id : 68634017065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067389. 1
68634067390. 2
68634067391. 3
68634067392. 4

Question Number : 49 Question Id : 68634017066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is an example for microfossils 7
1. Trilobites
2. Brachiopods
3. Ostracoda

4. Echinoids

Options :

68634067393. 1
68634067394. 2
68634067395. 3
68634067396. 4

Question Number : 49 Question Id : 68634017066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrofafed & Yo 1 ay Siamyl &1 U6 Saev e?
1. CIsdlarsed
3. HIEBHIST

4. gAY

Options :
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68634067393. 1
68634067394. 2
68634067395. 3
68634067396. 4

Question Number : 50 Question Id : 68634017067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is not true about the Trilobites ?

1. Their abundance peaked during the Upper Cambrian

| )

. They disappeared in the Permian
3. There were exclusively fresh-water species.
4. Their dorsal carapace has tripartite subdivisions.
Options :
68634067397. 1
68634067398. 2

68634067399. 3
68634067400. 4

Question Number : 50 Question Id : 68634017067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067397. 1
68634067398. 2
68634067399. 3
68634067400. 4

Question Number : 51 Question Id : 68634017068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are chelating agents ?

1. Organic chemicals that bind to metals to produce soluble metallic-organic complexes

[ )

. Clumps of soils separating planes of weaknesses such as shrinkage, cracks. roots and burrows.
3. Concretions of mineral matter
4. Thin layers of altered rocks.

Options :

68634067401. 1

68634067402. 2

68634067403. 3
68634067404. 4

Question Number : 51 Question Id : 68634017068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Blafcd e 71 52
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Options :

68634067401. 1
68634067402. 2
68634067403. 3
68634067404 4

Question Number : 52 Question Id : 68634017069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In general granular disintegration and spallation of rocks are caused by :

1. Frost cracking

| )

. Compressional tectonic
3. Sheeting joints

4. Thermal stress and strain

Options :
68634067405. 1



68634067406. 2
68634067407. 3
68634067408. 4

Question Number : 52 Question Id : 68634017069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067405. 1
68634067406. 2
68634067407. 3
68634067408. 4

Question Number : 53 Question Id : 68634017070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not correct ?

1. Laminar flows have Reynolds number less than 500

o

2. Turbulent flows Reynolds number greater than 2000
3. Most of the natural river systems have Reynolds number between 500 and 2000.
4. Reynolds number is the ratio of viscous stresses to turbulent stresses.

Options :

68634067409. 1
68634067410. 2
68634067411. 3
68634067412. 4

Question Number : 53 Question Id : 68634017070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067409. 1
68634067410. 2
68634067411. 3
68634067412. 4

Question Number : 54 Question Id : 68634017071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Symmetrical wave ripples generally do not migrate.

Reason R : The near bed orbital velocities are symmetrical.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

b2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct

Options :

68634067413. 1
68634067414. 2
68634067415. 3
68634067416. 4

Question Number : 54 Question Id : 68634017071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEGIGAIE| fé‘[{ b1 % Ud B (Assertion A) & =4 { faiad % al GHxT 3P BRI (Assertion R)
S =g,

MY A: FHMHT WER a3l THadT SFTH 8] Bl & |

YT R: T & I BT 7 I 8§

SWRIdd P & el |, Aid 34 MU faeedl # 9 Fel 3Tk &1 997 S
1. ASIRREHI 9 & SR R. A o T8I ura ©
2. A SR R & 9@ B, Wi R A B WS A 5l &

3. A9 . UfpTR 39T ©
4 AT E. AP RIT T

Options :

68634067413. 1
68634067414. 2
68634067415. 3
68634067416. 4

Question Number : 55 Question Id : 68634017072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Newtonian fluids there exists relation between the shear stress acting on a parcel of fluid and the
shear strain of that flud.

1. exponential

| )

. linear
3. non-linear

4. cubic

Options :

68634067417. 1
68634067418. 2
68634067419. 3
68634067420. 4

Question Number : 55 Question Id : 68634017072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634067417. 1
68634067418. 2

68634067419. 3
68634067420. 4
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Question Number : 56 Question Id : 68634017073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While climbing up valleys. occupied by glaciers, one has to climb up against the wind. What these winds are
called 7

1. Trade winds

2. Katabatic winds
3. Westerly wind

4. monsoonal winds

Options :

68634067421. 1
68634067422 2
68634067423. 3
68634067424. 4

Question Number : 56 Question Id : 68634017073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067421. 1

68634067422. 2

68634067423. 3
68634067424. 4
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Question Number : 57 Question Id : 68634017074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Accordmg to Big Bang theory. the universe formed at billion vears ago.

1.11.7

Options :

68634067425. 1
68634067426. 2
68634067427. 3
68634067428. 4

Question Number : 57 Question Id : 68634017074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofT & & B SR i Riferat o v o gant

1. 11.7

2

. 137
3.15.7
4.17.7

Options :
68634067425. 1



68634067426. 2
68634067427. 3
68634067428. 4

Question Number : 58 Question Id : 68634017075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following Statements :

A. The average density of our planet 1s nearly similar to the density of the common rocks found on the
surface.

B. Mass of the overall Earth is so great that the planet must contain metal.

C. Metal in the Earth 1s concentrated towards its exterior.

D. If the metal in the Earth would have concentrated at its centers, centrifugal force due to the spin of the
Earth on its axis would have pulled the equator out, and planet would have become a disk.

Choose the correct answer from the options given below :

1. A Only

b2

. B Only
3. C Only
4. D Only

Options :

68634067429. 1
68634067430. 2
68634067431. 3
68634067432. 4

Question Number : 58 Question Id : 68634017075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067429. 1
68634067430. 2
68634067431. 3
68634067432. 4

Question Number : 59 Question Id : 68634017076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : The outer core consists of liquid iron alloy.

Reason R : It can exist as liquid because the pressure in the outer core 1s very high.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R 1s not false

4. A 1s not false but R is true

Options :

68634067433. 1
68634067434. 2
68634067435. 3
68634067436. 4

Question Number : 59 Question Id : 68634017076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067433. 1
68634067434. 2
68634067435. 3
68634067436. 4

Question Number : 60 Question Id : 68634017077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Formation of Moon occurred between

1. 4.6-4.3 Ga

2

. 3.6-3.3 Ga
3.4.3-3.9 Ga
4. 3.0-2.7Ga

Options :

68634067437. 1
68634067438. 2
68634067439. 3
68634067440. 4

Question Number : 60 Question Id : 68634017077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067437 1
68634067438. 2
68634067439. 3
68634067440. 4
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Question Number : 61 Question Id : 68634017078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements. Which of these statements are correct :

A. Pand S waves are body waves.

B. Love and Rayleigh waves are body waves.

C. Displacement in P waves are in the direction of propagation.

D. Displacement in shear waves are perpendicular to the direction of propagration.
E. P and S waves are surface waves.

Choose the correct answer from the options given below :

1. A and C Only

2

. B and E Only
3. A. C and D Only

4, B.D and E Only

Options :

68634067441. 1
68634067442. 2
68634067443. 3
68634067444. 4

Question Number : 61 Question Id : 68634017078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T s FI IR s I HYT T8l &
A. Ui vd Te A ErEt T 2
B. @d U4 Yol a3l @l il gl
c. 4t a3t & fowura vaRu o) fezn F giar s
D. YR a3 ¥ foimg= u9aRr &t f3xn & oad sidr g
E. T Ud U9 037 gdel a3 g
1. A and C Only
2. B and E Only
3. A. Cand D Only
4. B. D and E Only

Options :

68634067441. 1
68634067442 2
68634067443. 3
68634067444. 4

Question Number : 62 Question Id : 68634017079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a volcanic product ?

1. Sinter

[ B

. Doline
3. Lapilli
4, Aa

Options :

68634067445. 1
68634067446. 2
68634067447. 3
68634067448. 4

Question Number : 62 Question Id : 68634017079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Riex
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Options :

68634067445. 1
68634067446. 2
68634067447. 3
68634067448. 4

Question Number : 63 Question Id : 68634017080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTII
(Timescale on
which it operates)

LISTI
{(Tvpe of Landform equilibrium)

A [Dynamic equilibrium L 107 yrs
B. [Steady-state equilibrium I |13 yI
C. |Static equilibrium IIL (107 yrs
D. [Decay equilibrium IV |10 yrs

Choose the correct answer from the options given below:

1. A-I. B-IV ., C-II. D-III

2

CA-IIT, B-IT, C-IV ., D-1
3. AL, B-1.C-II, D-IV
4, A-III,B-IV,C-II..D-1

Options :

68634067449. 1
68634067450. 2
68634067451. 3
68634067452. 4

Question Number : 63 Question Id : 68634017080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 Y1 11 U e e

a1 T 11
(Y3THT Tge BT USR) [mwa Tarmn o w ag s sar d)

A mﬂﬂﬂ—"f I 107 yrs

B. [£8]-&e §qad I [103 yr

C. [Rfa® e 1L 10° yrs

D. &IHW IV. 10 ys
fAafaRad fasedl 4 U gl 3R &l 904 I ;

1. A-I.B-IV . C-II. D-III

[ E)

CA-TIT L B-IT. C-IV . D-I
3 AN, B-1. C-IT, D-IV
4, A-IIT . B-IV . C-11 . D-1

Options :

68634067449. 1

68634067450. 2

68634067451. 3
68634067452. 4

Question Number : 64 Question Id : 68634017081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In general. magnitude - frequency curves are

1. right skewed

| B

. left skewed
3. symmetrical
4. linear

Options :

68634067453. 1
68634067454. 2
68634067455. 3
68634067456. 4

Question Number : 64 Question Id : 68634017081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT gRoTH - 37afd 95 gl

4. 3@

Options :

68634067453. 1
68634067454. 2
68634067455. 3
68634067456. 4

Question Number : 65 Question Id : 68634017082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Storm surges are generated by combined effects of low atmospheric pressure and very high
wind speeds.

Statement II : The largest storm surges are produced when winds are blowing towards coastal embayments
and they are accentuated if they coincide with high tides.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634067457. 1
68634067458. 2
68634067459. 3
68634067460. 4

Question Number : 65 Question Id : 68634017082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@YU I T A ltHgl (% argere auT it ga 97l & Sifad JHIal gR1 304 sidi g |

HY 11 §EaH JPT1 HeliH a8 S Bl § o8 Ua- dcig ag@ syl &1 aeh Fdlied gial & a1 S9! Teedl sgdl &
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SQRITd DY b 3l T, i fqu MU fgeedi § I 998 Iugad Ik &1 98- SIS
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2. HYA1 3R T EHT 3 ¥

3. HUT 190 g, dfbd YT 11 A &

4, PUTI1 3T 6, Ui PYUI I T &

Options :

68634067457. 1
68634067458. 2
68634067459. 3
68634067460. 4

Question Number : 66 Question Id : 68634017083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Disconformity is used for unconformities at which strata were deposited on a basement of older
crystalline rocks.

Statement IT : At a nonconformity, beds of the rock sequence above and below the unconformity are parallel
to one another, but there is a measurable age difference between the two sequences.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I is incorrect but Statement II 1s correct

Options :

68634067461. 1

68634067462. 2

68634067463 3
68634067464. 4



Question Number : 66 Question Id : 68634017083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THaFE U U E:
@Y I: 9ol YRR QW feeedida Yal W FalUd gid & gel faun [Gum o o Srvfa &1 WaRT fasdl il a1

HU 11 TP AT W AETRT & FUR YU Tl 2l 51 T T GHL D GHHIGR Bl 5, [ebwg &l A1 B H HITH
IRy 1Y e Bl g1

JRIad By & Hdld |, -d Tu 70 fdsedl ¥ 9 a8 3ugdd I &1 994 DI

1. HPYTIMR N ag §

2. FYT IR noHl T E

3. ®YA 1T &, Tih Y 11 38 &

4. FUTI TS AT FUT I T E

Options :

68634067461. 1
68634067462. 2
68634067463. 3
68634067464. 4

Question Number : 67 Question Id : 68634017084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Type of fold) LIST II (Description)
A |Recumbent I. |The hinges are sharp and angular

Crest 13 broad and flar; two hinges are present, one on either
side of the flat crest.

B
C. |Overturned III. |Axial plane 1s essentially horizontal.
D

. lAxial plane 15 inclined and both limbs dip 1n same direction,
Box IAY .
usually at different angles.

Chevron I

Choose the correct answer from the options given below:
1. A-IV ,B-1. C-IIT . D-II
2 AN, B-IV.C-1.D-1I
AN, B-1.C-IV.,D-1I
4. A-IV ,B-I. C-IT, D-ITI

Options :
68634067465. 1



68634067466. 2
68634067467. 3
68634067468. 4

Question Number : 67 Question Id : 68634017084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 T 11 ¥ e Sifoy
T T 11

(@ F UFR) EERL
A REM I |9 da s ®IUia gid |

. 1Y T9%dd U3 9Had 6.al o9 8ld &
B. [EEIH II.

gaaq 2 & el B U - T |
C. [ufaae 111. |31&fra aa sifaarda: &faw gl
31T S YT Bl 8 3R gl Y=g

T - @il R geE R | ge Bl B
Fafdiad [doedi § I 98l SR @l 94+ $Ifoi ;

1L A-IV.B-I[.C-III. D-II

W

D. [EId8H V.

2 AT, B-IV, C-1, D-II
JA-IT,B-I.C-IV.,D-II
4. A-IV . B-I., C-II., D-III

Options :

68634067465. 1

68634067466. 2

68634067467. 3
68634067468. 4

Question Number : 68 Question Id : 68634017085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s Klippe ?

1. Where erosion cuts a hole through a thrust sheet exposing the footwall.

[ )

. An 1solated remmant of a thrust sheet surrounded by exposures of the footwall.
3. The point on a map or cross section where a fault intersects a pre-existing contact.
4. An area surrounded by hills.

Options :
68634067469. 1



68634067470. 2
68634067471. 3
68634067472. 4

Question Number : 68 Question Id : 68634017085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e &R 37
1. SIg1 UG U U 2fic H 3¢ P fH=ell d1aR B 3H15d Sl g
2. Ud URe 2 &1 UdTd! @iy ol (el dlarR & sH1gdl 4 feR1 giar g1
3. U OHH 3l 3R &1e T fdg ol U U= JaRyd S R d1edl o |
4. ygifsdi © R e &3

Options :

68634067469. 1
68634067470. 2
68634067471. 3
68634067472. 4

Question Number : 69 Question Id : 68634017086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Listric faults have decreasing dip with depth.

Reason R : The fracturing that accompanies fault displacement creates an open space within the fault zone for
tluid to enter. Because of the mcrease in open space. fluid pressure in the fault zone temporarily drops relative
to the surrounding rock.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A 15 true but R is not false
4. A 15 not false but R 1s true
Options :
68634067473. 1
68634067474. 2

68634067475. 3
68634067476. 4

Question Number : 69 Question Id : 68634017086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067473. 1
68634067474. 2
68634067475. 3
68634067476. 4

Question Number : 70 Question Id : 68634017087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
{Technique) (Method)
A |Linear contrast enhancement 1. |Histogram equalization,
B. [Non-linear contrast enhancement| II. |Adaptive filter
C. |Convolution filter III. [Median filter
D |Statistical filter IV. [Saturation stretch

Choose the correct answer from the options given below:
1. A-IV ,B-II. C-IIT , D-1
2 AIV B-I.C-II.D-III
3.A-IIN, B-IV, C-II.D-1
4 A-III.B-1.C-II.D-IV
Options :
68634067477. 1

68634067478. 2
68634067479. 3



68634067480. 4

Question Number : 70 Question Id : 68634017087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 T 11 ¥ e Sifoy

qAT1 T 1
GkRicd fafyr
[Emfedeais |1 [Remm dged
R fave g9fg | 11 [eeri fhee
@-alqeH heex | 11 [HifgaH fheex

_ [t e V. [OEF ¥4

fFafdRad fasedi § I 98! 3R &l 90+ P ;

1. A-IV B-II. C-IIT , D-I

Olo|w]|e=

2 ALV, B-I.C-II.D-III
3OA-D, B-IV, C-II..D-1
4 A-III.B-1.C-II.,D-IV

Options :

68634067477. 1
68634067478. 2
68634067479. 3
68634067480. 4

Question Number : 71 Question Id : 68634017088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Those areas of the electromagnetic spectrum which are not severely influenced by atmospheric absorption and
are useful to remote sensors are called :

1. Green house zone

| )

. Atmospheric windows
3. UV zone
4. Atmospheric strimmer

Options :

68634067481. 1
68634067482. 2
68634067483. 3
68634067484. 4



Question Number : 71 Question Id : 68634017088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fggd T1g WagH & 3 & ol argHsairy Sfa=iyu J iRkan 3 wifad 7 81 8 ud Refle daeal &
fesmarfigdest_ @sdel
1. 49 139 WA
R
Options :
68634067481. 1
68634067482 2

68634067483. 3
68634067484. 4

| )

L#N]

=S

Question Number : 72 Question Id : 68634017089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was Chandrayan-1 launched ?

1. 22 October 2008

| )

. 20 April 2009
3. 23 September 2009
4. 12 July 2010

Options :

68634067485. 1
68634067486. 2
68634067487. 3
68634067488. 4

Question Number : 72 Question Id : 68634017089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TAMH-1 e SlgT T/ U2

1. 22 3feRIER. 2008
.20 3V, 2008
3. 23 Faawe, 2000

4. 12 9@, 2010

Options :

68634067485. 1
68634067486. 2
68634067487. 3
68634067488. 4

[ )

Question Number : 73 Question Id : 68634017090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Bilinear interpolation helps in reducing stair-step effect caused by the nearest - neighbor
resampling.

Statement IT : Cubic convolution helps in reducing stair-step effect caused by the nearest-neighbor
resampling and image looks smoother then bilinear interpolation.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634067489. 1
68634067490. 2
68634067491. 3
68634067492. 4

Question Number : 73 Question Id : 68634017090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067489. 1
68634067490. 2
68634067491. 3
68634067492. 4

Question Number : 74 Question Id : 68634017091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The amount of matrix in a sedimentary rock is between 15% - 75% . will be called as

1. arenite

| )

. mudrock
3. wacke

4, arenaceous

Options :

68634067493. 1
68634067494. 2
68634067495. 3
68634067496. 4

Question Number : 74 Question Id : 68634017091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3RAEE
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;

4. dicfp1HY

Options :

68634067493. 1
68634067494. 2
68634067495. 3
68634067496. 4

Question Number : 75 Question Id : 68634017092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Proterozoic I. [Katrol Formation
B. [Carboniferous | II. [Delhi supergroup
C. Purassic III. |Fenestella shale
D._ |Tertiary IV |Siwaliks

Choose the correct answer from the options given below:

1. A-I,B-III. C-II, D-IV

| )

CA-ITL, B-IIIL, C-1, D-IV
3. A-IL,B-III, C-IV. D-I
4. A-IV ,B-III. C-II.. D-1

Options :

68634067497. 1
68634067498. 2
68634067499. 3
68634067500. 4

Question Number : 75 Question Id : 68634017092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I,B-III. C-II, D-IV

olo|w|F

|

CA-IT, B-III. C-1, D-IV
3.A-IT.B-IIT. C-IV . D-1
4. A- IV, B-III. C-IT. D-1

Options :

68634067497. 1

68634067498. 2

68634067499. 3
68634067500. 4

Question Number : 76 Question Id : 68634017093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sorting and graimn orientation within sediment deposit have a strong influence on

1. Porosity

| B

. Permeability
3. Hydraulic conductivity
4. Porosity and Permeability

Options :

68634067501. 1
68634067502. 2
68634067503. 3
68634067504. 4

Question Number : 76 Question Id : 68634017093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634067501. 1

68634067502. 2

68634067503. 3
68634067504. 4

Question Number : 77 Question Id : 68634017094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following class is both hemimorphic as well as enantiomorphic ?
1. Gyroidal
2. Pedial
3. Spheroidal
4. Pinacoidal
Options :
68634067505. 1
68634067506. 2

68634067507. 3
68634067508. 4

Question Number : 77 Question Id : 68634017094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeRed & ®19 S gbmifthe & dry-a1y gafcdimiithe & &1 8|
1. fiRfgsd
ufSaa
 TpIgsd

L] [ ]

|

Options :



68634067505. 1
68634067506. 2
68634067507. 3
68634067508. 4

Question Number : 78 Question Id : 68634017095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : Triclinic system has both centre of symmetry. plane of symmetry and axis of symmetry.
Statement II : Triclinic system can display centre of symmetry.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634067509. 1
68634067510. 2
68634067511. 3
68634067512. 4

Question Number : 78 Question Id : 68634017095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i & B2 feu U §;
Hu 1. By 73 1 S Bt anfif. 7d St wniia aun s @ wnifa SR e ©)
A 11 B o gufifa &1 &% ol gear g
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1. ®YA13R naH 9d §
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Options :

68634067509. 1
68634067510. 2
68634067511. 3



68634067512. 4

Question Number : 79 Question Id : 68634017096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following erystal system has three unequal axes intersecting at oblique angles ?

1. Orthorhombic

[

. Triclinic
3. Monoclinic
4. Tetragonal

Options :

68634067513. 1
68634067514. 2
68634067515. 3
68634067516. 4

Question Number : 79 Question Id : 68634017096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeafad foog e omeht & &9 s sief fods oo & ufo=ss #ed § 2
1. YRifras
IMESIEED

HHIfEaH®
4. SIS

~

| )

L]

Options :

68634067513. 1
68634067514. 2
68634067515. 3
68634067516. 4

Question Number : 80 Question Id : 68634017097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Hornblende cleavages intersect at angles of

1. 560 and 1249

[ B

. 64% and 1167
3.87% and 103°

4. 70% and 120°

Options :

68634067517. 1
68634067518. 2
68634067519. 3
68634067520. 4

Question Number : 80 Question Id : 68634017097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o W A, i,

Heois § fdgar S R ufasiga ded g |

1. 56° U4 124°

|

.64° g 1167
3.87° 74 103°
4. 70°Td 120°
Options :
68634067517. 1
68634067518. 2

68634067519. 3
68634067520. 4

Question Number : 81 Question Id : 68634017098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Length of the c-axis in Pyroxene group of minerals is

1. 4.8 A°

| )
s
o
e
o

4, 7.3A0

Options :



68634067521. 1
68634067522. 2
68634067523. 3
68634067524. 4

Question Number : 81 Question Id : 68634017098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORI 90 & @Holl Tl -sfgf Bl oy gl

1. 4.8%0

| o

Sz
3.6.70Q°
4. 7300

Options :

68634067521. 1
68634067522. 2
68634067523. 3
68634067524. 4

Question Number : 82 Question Id : 68634017099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Quartz I ALO;
B. |Calcite I |C
C. |Corundum I11. [CaCO;
D. [Diamond IV. [$10;

Choose the correct answer from the options given below:
1. A-II,B-III, C-IV . D-I
2 AN, B-IV., C-1.D-II
3. A-IV  B-III, C-1, D-II
4. A-1.B-II.C-IV ., D-III
Options :
68634067525. 1
68634067526. 2

68634067527. 3
68634067528. 4



Question Number : 82 Question Id : 68634017099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 T 11 ¥ e Sifog

T I T I
A. [Pl 1L [UTd 5a):
B [hodse [
C. [PReH 111 [draadta:
D. BRI IV. [egamsa 2

FafeRad fawedi 1 O gl IR &l 994 DI ;

1L A-II . B-III. C-IV . D-I

| o]

CA-IILL B-IV, C-I. DI
3. A-IV.B-III.. C-I.D-II
4. A-I.B-II. C-IV . D-III

Options :

68634067525. 1
68634067526. 2
68634067527. 3
68634067528. 4

Question Number : 83 Question Id : 68634017100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Quartz group of minerals belong to
1. Tectosilicates
2. Phyllosilicates
3. Nesosilicates
4. Inosilicates
Options :
68634067529. 1
68634067530. 2

68634067531. 3
68634067532. 4

Question Number : 83 Question Id : 68634017100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I

Options :

68634067529. 1
68634067530. 2
68634067531. 3
68634067532. 4

Question Number : 84 Question Id : 68634017101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Anhydrite 1s mainly composed of

1. Ba

b2

Ca
3.Na
4. 8r
Options :
68634067533. 1
68634067534. 2

68634067535. 3
68634067536. 4

Question Number : 84 Question Id : 68634017101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRISSISe & g Tnfgd g
1.9 1
i
LM

| )

L]

4. 91 3R

Options :



68634067533. 1
68634067534. 2
68634067535. 3
68634067536. 4

Question Number : 85 Question Id : 68634017102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following mineral is commonly absent in intermediate pressure series of metamorphic rocks of
amphibolite facies ?

1. Hornblende
2. Andalusite
3. Staurolite
4. kyanite
Options :
68634067537. 1
68634067538. 2

68634067539. 3
68634067540. 4

Question Number : 85 Question Id : 68634017102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad § 3 o 91 @i wad gald §@dl 31 SridaRd Ul & Upalge Jagufial T S
HTUYATA B ?

1. 8=

H

4, PIAIRC

Options :

68634067537. 1
68634067538. 2
68634067539. 3
68634067540. 4

Question Number : 86 Question Id : 68634017103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Extensive variables depend on the quantities of material matters.

Statement II : Intensive variables do not depend on the quantities of material matters.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ )

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634067541. 1
68634067542. 2
68634067543. 3
68634067544. 4

Question Number : 86 Question Id : 68634017103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bl KA RIE AN IS
BYA I [9%qd o) HieRad el &f ges W AR $3d 81
HY 11 g =R Hiehas gardf @1 deansfl )R FiR 98 &3 5
SIRIad BYF & HAld 1, A< 6T T fawedl § ¥ 989 3Uge 3wk @I 90 Bl
1. Y1 AR G T &
2. FYF 1R I EH T E

3. BYTITd . i BUT I A &

4. PUTI T g, AT PYUT I T B

Options :

68634067541. 1
68634067542 2
68634067543. 3
68634067544. 4

Question Number : 87 Question Id : 68634017104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Elements having strong affinity towards silicates are known as :

1. Siderophiles

[

. Chalcophiles

LFS]

. Atmophiles
4. Lithophiles

Options :

68634067545. 1
68634067546. 2
68634067547. 3
68634067548. 4

Question Number : 87 Question Id : 68634017104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dcd ot faftierey U yaa! af=yal gidl 5. d 30 WbR & old 3 -

1. Rreifthes

RTINS
4. fayiftearst

Options :

68634067545. 1

68634067546. 2

68634067547. 3
68634067548. 4

[

(5]

Question Number : 88 Question Id : 68634017105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the weakest chemical bonding ?

1. Ionic bond

| )

. covalent bond
3. metallic bond

4. Vander waals bond

Options :
68634067549. 1



68634067550. 2
68634067551. 3
68634067552. 4

Question Number : 88 Question Id : 68634017105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afaRad § 1 91 94 HHOIR A9EHE g8 g
1. 3T TeY

. Heoasid ey

3. YIfcdd 3MEY

4. SR ATy T

| )

Options :

68634067549. 1
68634067550. 2
68634067551. 3
68634067552. 4

Question Number : 89 Question Id : 68634017106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Average thickness of lithosphere under ocean basins ranges between

1. 70 to 80 KM

(3=

100 to 150 KM
3. 410 to 660 KM

4. 660 to 880 KM

Options :

68634067553. 1
68634067554. 2
68634067555. 3
68634067556. 4

Question Number : 89 Question Id : 68634017106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tge! 4Rl & A1 wenusq fe ivddiers, Hadgl
1. 70 ¥ 80 fopdt

-100 ¥ 150 fodt

410 ¥ 660 fordit

4. 660 9 880 fp

Options :

68634067553. 1
68634067554. 2
68634067555. 3
68634067556. 4

[ ]

[#5]

Question Number : 90 Question Id : 68634017107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is diagnostic mineral of granulite facies rocks ?

1. Enstatite

| B

. Chlorite
3. Chloritoid

4. Staurolite

Options :

68634067557. 1
68634067558. 2
68634067559. 3
68634067560. 4

Question Number : 90 Question Id : 68634017107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Prffed § 4 B Iaee Sash o Smifee i 2
1. TTRCTZS
dORIgE
3. PAllelss
- FgRIIET

Options :

[

=Y



68634067557. 1
68634067558. 2
68634067559. 3
68634067560. 4

Question Number : 91 Question Id : 68634017108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : A metamorphic rock comprises of grains/crystals with well developed faces said to exhibits
idioblastic texture.

Statement II : A metamorphic rock comprises of grains/crystals without any definite shape 1s said to exhibit
xenoblastic texture.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ ]

. Both Statement [ and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

68634067561. 1
68634067562. 2
68634067563. 3
68634067564. 4

Question Number : 91 Question Id : 68634017108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR P TS
@YU [: TP DEaRd 2d il Bl /el § Fiid & 98 Yoed had! & 91d [ 164 a2l dedldi g |
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3. YT 19T ¢, tifpd dYT 11 A &

4. BYTIIEAE, AP PUT I A &

Options :



68634067561. 1
68634067562. 2
68634067563. 3
68634067564. 4

Question Number : 92 Question Id : 68634017109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Voleanic equivalent of Granite is

1. Rhyolite

2

. Dacite

L

. Trachyte

4, Basalt

Options :

68634067565. 1
68634067566. 2
68634067567. 3
68634067568. 4

Question Number : 92 Question Id : 68634017109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS BT SATTTHET TG 7 82
1. A e
K BT
A

4. §TTC

Options :

68634067565. 1
68634067566. 2
68634067567. 3
68634067568. 4

| )

[#5]

Question Number : 93 Question Id : 68634017110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average density of the lithosphere 13 :

1. 500 kg m™

| )

2750 kg m™
3.4650 kg m™
4. 5570 kg m™
Options :
68634067569. 1
68634067570. 2

68634067571. 3
68634067572. 4

Question Number : 93 Question Id : 68634017110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RITHST BT 31¥Hd T 82
1. 500 ol gH 3
. 2750 it g3

| ]

3. 4650 ol UH3
4. 5570 Poil UH3

Options :

68634067569. 1
68634067570. 2
68634067571. 3
68634067572. 4

Question Number : 94 Question Id : 68634017111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Entire zone / area of recrystallized country rock around an igneous intrusive body is termed as
"contact aureole™

Statement II : These spotted fine grained recrystallized rocks are called mylonites.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement [ is incorrect but Statement IT is correct
Options :
68634067573. 1
68634067574. 2

68634067575. 3
68634067576. 4

Question Number : 94 Question Id : 68634017111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T al P Ry MU §;

?ﬂ1;waﬁ%%%%mﬁﬁ%éﬁ%m%%@wm&ﬁﬁ‘m&mﬁﬁ
|
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4, PUYT1 3T 5, b PYT I T &

Options :

68634067573. 1
68634067574. 2
68634067575. 3
68634067576. 4

Question Number : 95 Question Id : 68634017112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I LISTII
A |Pyrite I P65
B. |Galena 1I. [Fe5,
C. [Sphalerite II1. |CuFe5;
D. [Chalcopyrite |IV. [Zne

Choose the correct answer from the options given below:
1. A-I . B-II. C-III , D-IV
2 AL, B-1.C-IV,D-III
3 AN, B-IV.,C-II.D-1
4. A-IV ,B-III. C-1., D-II

Options :

68634067577. 1
68634067578. 2
68634067579. 3
68634067580. 4

Question Number : 95 Question Id : 68634017112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 161 Ft 11 ¥ e Sifoy
T I T I

A [oERIEe 1 [di&i g

B. [icHT II. [ThsUY 2

C [preRge [ [ uws @

D. [aTe®iuEEe | 1V, [6isua ug

A fau U fawmedl § ¥ Hel IR &1 994 Hifor ;

AL B GO, DAV
2. A-II, B-I. C-IV, D-III
3. A-IIT . BV, Cl, DI
4, A-IV', B-IIIL, €1 D-IT

Options :

68634067577. 1

68634067578. 2

68634067579. 3
68634067580. 4



Question Number : 96 Question Id : 68634017113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Syngenetic deposits are those formed

1. Before the crystallization of host rocks

[ ]

. After the crystallization of host rocks
3. Simultaneous with the host rocks

4. Earlier to the host rocks.
Options :
68634067581. 1
68634067582. 2

68634067583. 3
68634067584. 4

Question Number : 96 Question Id : 68634017113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Heod U g sld Wl §Td 8
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Options :

68634067581. 1
68634067582. 2
68634067583. 3
68634067584. 4

Question Number : 97 Question Id : 68634017114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a good reservoir rock ?
1. Granite
2. Sand stone
3. Shale
4. Schist

Options :

68634067585. 1
68634067586. 2
68634067587. 3
68634067588. 4

Question Number : 97 Question Id : 68634017114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefad § 9o 4 sl HusR Ya g2

1. UA15¢

qd
4. Ry

Options :

68634067585. 1

68634067586. 2

68634067587. 3
68634067588. 4

| ]

L)

Question Number : 98 Question Id : 68634017115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Great Boundary Fault lies between

1. Siwaliks and the Murree group of rocks.

[ )

. Upper Vindhyans and Aravallies

L%

. Upper Vindhyans and Kurnools
4. Siwaliks and Subathus

Options :
68634067589. 1



68634067590. 2
68634067591. 3
68634067592. 4

Question Number : 98 Question Id : 68634017115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. Rrarferss ud ¥ weg @t Il

 SWRI [ T4 SRTaat

S [y vl $rad

 Rrarfere ud garug

—

| )

L]

=

Options :

68634067589. 1
68634067590. 2
68634067591. 3
68634067592. 4

Question Number : 99 Question Id : 68634017116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trilobites are the index fossil of

—_

. Cambrian period

| )

. Archean Period
3. Proterozoic Period
4. Ordovician Period

Options :

68634067593. 1
68634067594. 2
68634067595. 3
68634067596. 4

Question Number : 99 Question Id : 68634017116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gRUNIECH_ HYIoi® SiarA 7
1. B safy
2. Hfeha 3rafy
3. UIeRIiE® ety
4. rsifafRmaa

Options :

68634067593. 1
68634067594. 2
68634067595. 3
68634067596. 4

Question Number : 100 Question Id : 68634017117 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The fauna which have free - swimming life style are called
1. Nektonic
2. Planktonic
3. Benthic
4. Pelagic
Options :
68634067597. 1
68634067598. 2

68634067599. 3
68634067600. 4

Question Number : 100 Question Id : 68634017117 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
95 @] aa-a (b eilgd Yale. 4 g ol
1. dpeld

| )

IR ISED

Options :



68634067597. 1
68634067598. 2
68634067599. 3
68634067600. 4



